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Pad A

Answer ani- tefi questlons.

Each question carries 2 marks.

1. Define a Play

2. Explain Saddle Point of a Matrix

3. Define the term Pure Strategy

4

5. Write the difference between Merge and Burst Event.

6. Define free float.

7. What can you understand when total float is positive?

8. How can you identify a critical path in a network diagrarn ?

L Defrne traffic intensity.

10. Write the formula for expected number of customers in the system

11 Write the formula for expected number of customers in the queue

12. Write the formula Probability that .rl€ queue is non-ernpty.

Part B

Answer any six questions.

Each question carrtes 5 marks.

Examine the payoff matrices for saddle points ,. 
;r.; 

tn"_Too:;oint exists,

I
frno the optimal strategies and value ot ,n" nr*" 

L_r, _r, I f

13. Explain Matrix (Or Rectangular) Games with an example

{10x2=24)
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14

Solve graphically

15 An assembly is to be made from two paris X anci Y.Both parts must be turned on a lathe and Y must

be polished whereas X need not be polished.

The sequence of activities together withh their predecessors i given below.

Actirit3' Deseriplion P r xlecrxscn Ac tir,itl'
A
B A
C I Get natedal for \' .\

--.Efr- Tur* X ou lathe B
r Ti.rn Y orr lathr B,C
r Ptrlish Y E

e [ -lssnble X ard V D,E
H Padr c

Draw a network dragram of activities for the project.

16. A research and development department is developing a new power supply fcr a console television
set.lt has broken ti-"re job into the following

1.Draw the network diagram of activities involved in the project and indrcate the critical path.

2. What is the minimum compietion time for the project?

17. Write a short note on Critical Path Analysis

1 8. An architect has been awarded a contract to prepare a plans for an u rban renewal project.The job

consists of

the following aciivities and estimated times.

Activiry Iler:-iption Ilurerion, &eek Predeeexors
2

B I

r Prep*re drax'ings J A
n lrltite spr*i6c*tior* , .{,8
E Ru.r: i:ff prints 1 C.D
F Haw sper,ificationr B,D
c Aser:rbl* bid padrage* 1

2

3

11 J

I

5

2

3

Illl lr+. MrtgdlsaEBl rr il I

Uperi ffifk order

Crt ms,terisl fur X

Job L)x;criJrtiol lmmedi.ate Pre
daras-ns

l"h-uatloil{d:Lr*!

iletermiae rruiput trlt*ges
.43 llcitertsi*e q&etber tc use s:iid xtate

mcti{itr*
A t

I Llhoose rer:tj{isr B ?

tlhccm liiterr B
E {- ltror"*:e trirrS{irmf r C
r L,lio<xe dtse3i*

Ltrosr rtcti&g rnr:unring C 1

l l,anrout r*rassix t.f 3
I tluild tlrtrl t*st U.H 10

Prep;xr prelimilrary sketclq;
[) ut} r re specrfi c ari on-.

E-F
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21.

1. Draw the network diagram of activities for the prqect
2. lndicate the critical path.calculate the total flc:at and free fir:at for each activity.

Define a Queue

which distributions are used to approximate arrival time distributions

At what average rate must a clerk at a super market work in order to ensure a probability of 0.g0 so
that the customer will not wait longer that 12 minutes? lt is assumed that there is only one counter at
which customers arrive in a Poisson fashion at at average rate of 15 per hour.The length of service
by the clerk has an exponential distribution

(6x5=30)

Part G

Answer any two questions.

Each question carries 15 marks.

22. A promoter is crganizing a sports meeting.The relationship among the activities and time estimates
in days are shown below in the table.

lessir:i.qrir

_tt

1 Draw the network diagram for the project and complete expected completion trme of the project.
2 what should be the due date to have 0.90 probability of project completion?
3 Find the total float and free float for all non-critical actrvities

4 S.rl-:at is the probability that the length of the critical path does not exceed 5G days?

write both the primal and dual problem corresponding to the rectangular games
with the following payoff matrices.

Solve the game by solving the LP problem by simplex method.

?8

s

!1

I

4

[o t 21

L::tl

Actiritr-Desrripticn P*xltxesso

fupare dreft prr*
grel5€

.1 I

Serd to $port$ srga-
trizsl iorr* ar:d ,s'ait. fOr

a{)null€11ti

_1 11

Obta:l prorrrc]taf$ A 1i
Prepare ;ind xig:r tkx-
umerlt.( {$r stadiu$l
Lirc

.{.{: 'l 2

Re<lraft prograrrna
anti request eniric

8 2

Errlist ofticiai: I}"r 1{J la
-{rrurgt a,*rrmrnoda-
tiori far t*r:rirrtri te.:rrns

E a ,1

Prep*re drt*iied pra-
gra[r1nf

{ ,{.s

trlake irxt l"irlute a,r-
rangemerts

e.H 1 2

24. A small project consists of seven activities.the details are given below:
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1 Draw the network,number the nodes,find the criticai path the expected completion time and the

next most critical Path

2. What project duration will have 95 percent confidence of completion

Zb. The mean rate of arrivalof planes at an airport during the peak period is $20$ per hour, and the

actual number of arrivals in any hour follows a Poisson distribution. The airport can land 60 planes

per hour on an average in good weather and $10$ planes per hour in bad weather, but the actual

number landing in any hour follows a Poisson distribution

with these respective averages. When there is congestion. the planes are forced to fly over the field

in the stack awaiting the landing of other planes that arrived earlier

1.How many planes would be flying over the field in the stack on an average in

good weather and in bad weather?

2.How long would a plane be in the stack and in the process landing in good and in bad

weather?

(2x15=30)

Pracieces*r ar*ilit-r-

:tt
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3
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